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1) sflunestens CaiHOSM0-
1) umepwur 7 Quiflu sL(semmseybd Lsv FHpilw
SL(H&6MS 2 6L H5G)-
2) uAlNs gL Wl Quiflu L0 @& 26v8 LLiLle
1/5 QL 6511 QubmI6Tensg|.
A 1w (Ho
B. 2w (hid
C.1&2
D. e1iglab Qevenev
Choose the correct statement.
1) Pangea split into 7 major plates and smaller
plates
2) The Pacific plate is the largest plate and it
covers about 1/5™ of entire surface
A. lonly
B. 2 only

C.1&2
D. Neither

2) QU555

enfloemev - BM(H

a) unmest Sey - 1) @bHwim
b) Gunest@evmeur - 2) @556l
c) Qeugailwev - 3) ameuml
d) ugdwmom - 4) sguiLimest
Al 4 3 2

_ W
w N
[

B. 1
C. 2
D.1 2 4 3

Match the following.
Volcano - Country

a) Barren Island - 1) India
b) Mounolova - 2) Ialy

c) Vesuvius - 3) Hawai
d) Fujiyama - 4) Japan

Al 4 3 2
B.1 3 2 4
c.2 1 3 4
D1 2 4 3

3) SpsevTLoummI6iT Heumnestens CiHOSH.
A gewev 2pusSHuiled (estesllemey  eulg @D

rblevld - GoM(& eurkI 6D

Learning Leads To Ruling

B. GrEwUY, 2hussluiley (peoestleney sulé @D
omblevld - gL LHMID SHTeiBLSF
C. sy 2pusdHuilev (psttesiiemev suds@w LMTHeVLD
LIV )
D. Gamemd 2 musHuiled (Wesiesllemsy  EuH& G0
nblevld - GBI
Choose the incorrect pair.
A. Leading Jute producing state — West Bengal
B. Leading Saffron producing state — Jammu
and kashmir
C. Leading Bajra producing state — Rajasthan
D. Leading Jowar producing state — Gujarat
4) esteumeustroumi6i 61bs 2 ullijGasmem LINg s
WD  IFetT  SeowaillLigLenr  siflwns
Qunppseailevemen?
1. Albedlumey - elogT
2. Hammi-glunm - SymevsnEseols UIfGseid
3. BHsT Cxall - 2 HHTHTesOTL
4. 56ysGrs - Gosmeowm
A 18&2 B. 3 wl (B
C. sienetisgId D. e1g1e1b Q6vemren
Which of the following Biosphere is not correctly
matched with its corresponding state of location.
1) Simlipal - Odisha
2) Dihang-Dibang - Arunacal pradesh
3) Nandadevi - Uttarkhand
4) Nokrek - Meghalaya
A 1&2 B. 3only
C. All D. None

5) S1p&sevuTLsummi6iT Heupnesiens CHiHOSH (0.

1) 2 ga60 F006uefl LEMIMELIT SLHSHTEWMILD
sessTIL(h&ImS).

2) LEMBS) HMILD H(HEPETBIT M8 (6TH &S GewL G
&MessTLIL(HLD SLMHS6nTemW QUL FJSHSTT SLNHEENI 6T60T

SIenP&SIEMMLD.
A. 1wl (b B. 2 b (hid
C.1&2 D. s1gieyb Gevemnev

Choose incorrect statement.

Page 10f 18



http://www.winmeen.com/

Group 4 GS Model Test

1) The Utkal plain is found along the coast of
Maharastra.

2) The coastal plain between Mahanadi and
Krishna rivers is known as the Northern

circars
A. lonly B. 2 only
C.1&2 D. Neither

6) GfluemsEw yBlsEw QerGu 2 eTem
(SOMHSLULE HITILD 6Teu6u6mey?
A. 180 ilevellwiest HGeomSL Ly
B. 147 fleveSlwiest SGeombL Ly
C. 172 fleveSlwisst HGeomSL LI
D. 165 flsvellwisst HiGeomSL Ly

The distance between Sun and earth at Perihelion
is_____.

A. 180 million km

B. 147 million km

C. 172 million km

D. 165 million km

7) &ferells Siss Gremsuiled wHwdp  1.30
wessflwns 2 eten Gungy PHw SijsesCrensullesr
S6v GmLd eTeucuenauns: Q(H&GW?

A. 6.30 PM B. 7.00 PM

C. 5.30 PM D. 5.00 PM

When itis 1.30 PM at Greenwich Meridian the local
time at the central Meridian of Indiais ____.

A. 6.30 PM B. 7.00 PM

C. 5.30 PM D. 5.00 PM

8) Sip&seTTLUTH(EmH6IT wm  HluwwersHnE
S&SwenLweur wim?

A. 5606060 HEHEUD BEM6ETETLLIT

B. w.i.et600.81 Qett Hemr606UI

C. sev6ven0 CaiH6L SH S

D. @bslw Hemevemo &HesoishE LOHMID SevolleHens

SISl
Who of the following is eligible for
Reappointment?

A. Chief Information Commissioner

B. Chairman of UPSC

C. Chief Election Commissioner

D. Comptroller and Auditor General of India

9) £ip&sevoTLuMHMIET Heumnestens Cs5NHOS®H.

1) umev@6u6il BIEBBTLLD 4 S(HeTTBEm6N CSHMETsTL ).

Learning Leads To Ruling
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2) enfllLmflusy  etemd  Smefley (& flwest

SIENIDIHGI6TTEG).
A 1w (o B. 2wl (hd
C.1&2 D. e1gle|b Qevemnev

Choose incorrect statement.

1) Milky way Galaxy has a spiral arms

2) The sun islocated in the Sagittarius Arm
A. lonly B. 2 only

C.1&2 D. Neither

10) £pssevon_cummie iflwunen samenm Ca5iHOS 6.
1) 73 opoug SipFlwevenidoliL] FLLE S(HSSD 46015
LIEhEFTWSG TMY AenlILlesT iiesHSH6mons Sl
FEMLIGHEDET HEOEIMSI.
2) @5 @@ LUEETWSHg UGHEE LUl
Slymogglev 2 6item 25 euwig) HMID USHMHE GHLL L
AUWIGI6OL LI LOSSHED6IT 2 66L& Fol L emLLILIMEGLD.
A 1wl (o B. 2wl (hb
C.1&2 D. s1gleyb Qevenev
Choose the correct statement.
1) The 73" Amendment Act provides for a
Gram Sabha as the foundation of the
Panchayat raj system

2) Itisabody consisting of persons aged 25 and
above of a village comprised within the area
of panchayat at the village level

A. lonly B. 2only
C.1&2 D. Neither
11) opemmiflest wettesllliy ieflé@w Hasnyrhissr
uprlw Nesreupd sammisefley sflwnens) erg)?

1) wrhlev FlLmsmeT BHWshHans Heflébasiiul L
SHEBTL6m6nT (BHM5G) WedtestilL] HeflasCeum, @Qevemev
QUie] ieflEsGsur @uisyilb.

2) LOT6BBT SHEVTL6MEBT QULPMAISLILIL L [FLIHEE Sb(ETHBIT
LD6BT6BTILIL 6ULPMEIS @UIEVMTE.

A. 1ol @w B. 2wl Hb
C.1&2 D. s1gieyb Gevsmnev
Which among the following is correct regarding
pardoning power of Governor?

1) He can grant Pardon, Reprieve or Respite a

person convicted against a state law

2) Ha cannot pardon a death sentence
A. lonly B. 2only
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C.1&2 D. Neither

12) @w wmbleo &FlLweaMSEH FLLID6HTM
Guevemeuullemesst  EMOLILIZID,  HEOELLILIGID
FLLIW6eINSEH0  6hs  CU(BHLOLIMESTENd  eY6VLD
HlenmGaumiiu@Hms)?

A. gngnyess GILI(HLOLIMETEnL0

B. fimuiy @Qu(pLbLITesTenLo

C. sesfl@U(HLOLIMEsTERLD

D. ergleb Gevenev

The resolution for creation or abolition of a
legislative council can be passed by the state
legislative Assembly by a
A. Simple Majority

B. Special Majority

C. Absolute Majority

D. None

13)  swHlwevenioLiy

WaaenN
aumsSlwrigerflev

FLLSSlebr
@ mLjLmest Sps eyl
giflwunesg) 615,?

1) B8 Gamiun@ast NQnErs: LUrLHulled QHHS
QupuulLLg|.

2) ssndlnn, FwsHgeud LHMID FCHTHIHG6UD
Spflw Gamiunpeet pepwl UrLduled SHHa)

QupluLLg..
A. 1wl (b B. 2 b (hid
C. 1&2 D. sigiaib Qevemev

Choose the correct statement regarding to
Preamble.
1) The ideal of Justice has been taken from the
French revolution
2) The ideals of liberty, equality and fraternity
have been taken from Russian revolution

A. lonly B. 2 only

C.1&2 D. Neither

14) usenwiyrLfleow uppflu  Fammiseflev
SHeUMNesIg)| 61517

A. eflemagseiflev s (Waed(h QawliLLLg|.
B. umgest LGHHEHHGW OMID  DEOLPEHWI
LG S\S(6THE(E LD
@evLG6uerl GHOMHSH!.

moLuyeer Qe Guiwimest

Learning Leads To Ruling
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C. Quiflw sienaflev Famwest LiwestTUN(H LOHMID SHevflo
2 JTaI&6T LIWesTL(hSSLILIL L 60T.

D. LI6B8T60)650T8 61T SuIbSTLWLNSSLILILL &L
Geuemevuilsteno & fS5!.
Which of the following statement is not correct
regarding Green revolution

A. Heavy investment in seeds were made

B. The gap between irrigated and rain fed areas

had narrowed

C. Larger chemical use and inorganic fertilisers
D. Farm mechanization lead to unemployment
15) WNetreupuemeusefles  euemibgs  H(HSefeor
QUNHEMTSHN SLDSFEISEIT WTEI6U?

1) ©15)8 S6v6u(HLOMEBTLD

2) 6U6TTRISHEDSIT (P (LPEMDWIMELI LIW6STLI(HES560

3) @evmBS6Te] Bis6)
4) s18)a6malleb BEIOWLTESED
A 1,28&3 B. 2,3&4
C.1,2&4 D.1,23&4
Which among the following are the features of the
developed economy?
1) High per capita income
2) Full employment of resources
3) Low consumption level
4) High level of urbanisation
A 1,2&3 B. 2,3&4
C. 1,2&4 D. 1,2,3&4
16) Gadlw wesflg 2iflenw penevou Hemeveurflest
useil&smeod ____.
A. 5 o46051(H%61T 160605 65 eulg) Uiy
B. 5 opes01(h&6T i6v6vg) 70 eulig) eueniy
C. 5 oyev01(h36T 2160651 60 euwig) aueny
D. 6 o46051(h561T S16060&| 70 aulIG) euenIy
Tenure of National Human right commission of a
chairmanis _____.
A. 5years or 65 years of age
B. 5yearsor 70 years of age
C. 5yearsor 60 years of age
D. 6 yearsor 70 years of age
17) @ndHwneilev eHzHenest 2WHHSHO6CTMHEIS 6T
@etiflE GumurL wmleud evevgl wevflwesr
HpCsas58l60 Sflannrisenen Qsmesur(Hsiensst?
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A7 B. 6
C.5 D 4

How many High Court in India have Jurisdiction
more than one state or Union Territory?

AT B. 6

C.5 D. 4

18) Sip& s evvTLsummisi Fflwnest sahenn CaiHOS0.
1) wmhlevasEnsslem Guwmssr @&w 1990 v
SHENDSBHLILILL ).

2) mblevrhig(sth&dlemL Guimest (&(Lpem6l
Sienwsgeuy V.P.Am opeumy.

A 1w (Ho B. 2wl (hbd

C.1&2 D. e1gi6|b Gevemev

Choose correct statement.
1) Inter-State council was set up in 1990
2) Inter-State council was established by

V.P.Singh
A. lonly B. 2 only
C.1&2 D. Neither

19) 2 euéflett 1618 Hemonest &Levlg VS QBHMLIT
6% CU(HRISLeSl6v SesoliL(hEms)?

A uANs Qu(pisLey

B. &1 eonstonigs GILI(HRISLEL

C. QzmE Qu(BhRIsL6Y

D. @pHwl QU(HBEISL6L

World's longest mountain ridge is found in which
ocean?

A. Pacific ocean

B. Atlantic ocean

C. Southern ocean

D. Indian ocean

20) SpssevriLeummiet  afleu@  6TELEMEVETILI
&6UoTL 15

A wCrflwr sLB wHmb QBCHT eV Eresiw
SL(H §evemsv

B. opuiiflsear wphmibn Ozer CwHss SLE
6T6V63Y6V

C. auL o1Qwil&sT wHmib LS SL(H eevemev

D. prsivam wHm|b C&estesT@WIf&e SL(H eTevemev
Identify the divergent plate boundary?

A. Eurasia and Indo-Australian plate boundary
B. Africa and South America plate boundary

Learning Leads To Ruling
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C. North America and Pacific plate boundary
D. Nazca and South America plate boundary
21) Spsevon_eummie Fflwnes samenm C5iHOS®0.
1) 10121992 &© UnE OQeueflbriipsy eudlsEb
QubCmmiseflsy meulr @nbHWI eresllev SieuFsHens)
GRHEMSHEE QHSHW (GWflemol! euMhIS6e0MLD.
2) @nbdHwneilev Iy euflwnseyd  (GLuwifleno

auRBISLIL(HS ME.
A 1w (o B. 2 b (Bd
C.1&2 D. s1gle|b Qevenev

Choose the correct statement.

1) A person born outside India after 10.12.1992
can acquire Indian citizenship if either of his
parents is a citizen of India.

2) Indian citizenship can also be acquired

through Descent.
A. 1only B. 2 only
C.1&2 D. Neither

22) sflwevenolly eypeld  Siey  SHMem|d
2 flemow|Lett QBMLIUILW F758)] 61517
A. 155 32 B. 57551 33

C. #7155 34 D. 51851 35
The Article related to constitutional remedies is

A. Article 32

B. Article 33

C. Article 34

D. Article 35

23) SpsseaviLeaummieT  Heumnest  FapHenm
CBIBOSGE:

1) @pHw Qamblev gleormuiley CLPEVSHEET 2 (HEUTHSHD
V&8 (&Hemme.
2) cpeusenT 2 (HEUMEHL  ésefest Gy,

BlimleuestraigerfletT evmLD  SpHlweupenm QUIMISS)

SHemIDU]LD.
A. 1wl (b B. 2 b (hid
C.1&2 D. s1gieyb Gevsmnev

Choose the incorrect statement.
1) Capital formation is very low in Indian
Industries.
2) Capital formation depends upon the savings
of the people and profit of the companies.
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A. lonly B. 2 only
C.1&2 D. Neither

24) 81p5 sevTL U6 HeUMNs QUNIHHS) 2 6ienens
Caibos 6

NEMUETT Hevemel - QEMHBlenev

A eiggertmed - 349k

B. @GemnG@rmaumib - 334k

C ofALGumett - 380k

D. B7- 373k

Identify the wrongly matched pair.

Chemical compound Boiling point

A. Ethanol - 349k

B. Chloroform - 334k

C. Acetone - 380k

D. Water - 373k

25) @ ensmyeser wWEFNBNemen  HlemmGauMHMID
miH sfsmd sLLUCUDEmel QLD 2 6ieng).
sleucueney &MevsHMEG FLLGevemeUWTEL  6(H
gngmesor WwCsnHeneu FEHH BHMIHS Ii6v6v8)
&6V HMPSs uisy|b?

A. 14 B sef

B. 4 wnsmiger

C. 3 brsE&eT

D. 6 ngmhiseT

Legislative Assembly has the ultimate power of
passing an ordinary bill. How long can a legislative
council delay or detain the ordinary bill?

A. lddays

B. 4 months

C. 3months

D. 6months

26) oiesfisdlest spnHlulley seveSedley QuBHE)
6% Sifleyseit GeusflGummLiLI(hEHlesTmevt?

A wilwr woHmib CO2

B. wifl& Sislevid wmpmibd Guomestluim

C. =Guwnssflwum wpHmib CO2

D. wflwm whmiib ioGomesflwim

Which of the following waste products of are
removed from the blood in liver by Ornithine
cycle?

A. Urea and CO2

Learning Leads To Ruling
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B. Uric Acid and Ammonia

C. Ammonia and CO2

D. Ureaand Ammonia
27) QuUNBSZ)s.

a) Whsesta: - 1) s ae6tT HL55)I560

b) @mwy - 2) @sw GFweoLn(h

c) Qum_LmAwid - 3) anmiGlomesT 2 HLGHS
d) oiGwimgest - 4) euemiFlensLOMHMLD
A2 4 3

1
3
3
2

Oow
PN

1
2
3

- BN

Match the following.
a) Manganese — 1) Oxygen transport
b) Iron - 2)Cardiac function
c) Potassium - 3) Hormone synthesis
d) Iodine —4) Metabolism

A2 4 31
B.4 1 2 3
C.1 2 4 3
D.4 31 2

28) wesfls ewememuilest aHBBHL LGS 2LeSedT
Qeauliugens s (BLU(HSSID?

A. smamGLIsHevMDev

B. @Qu(h6vsurr oplieomi@sLm

C. Almiepemer

D. Qu(mepemst

Which part of the human brain is concerned with
the requlation of body temperature?

A. Hypothalamus

B. Medulla oblangatta

C. Cerebellum

D. Cerebrum
29) sflunen samenms CHIHOSE.

1) Hprhigener 2euEgIDd LUMTenausHE@ 2&aj6ug)
FalbL| QF60 D (FLD.

2) @il gmeb e(uug  UmeSlipliensiwim eTestm)

SIP&SILIHEIDGI.
A. 1wl (b B. 2 b (hid
C.1&2 D. s1gieyb Gevemnev

Choose the correct statement.
1) Cones enables the colour vision
2) Excessive thirst is called as Polydipsia

Page 5 of 18



http://www.winmeen.com/

Group 4 GS Model Test

A. lonly B. 2 only

C.1&2 D. Neither

30) SipsevoTLoummI6T Hevtev B 2 (Heuns: Hnyessnd
61517

A. ausflesorLevddHlev GeousuGeum LiGSHullev 2 sierm
gwblemeowHm GeuliLD

B. suerfloesstsugSlev 2 616 &b iemaey

C. eGgrmett 2 (HSHl6tT @UISSHD G6vevr LGS

D. gefluflest semallemerey
Which of the following is reason for the formation
of Mirage?

A. Unequal heating of different parts of the

atmosphere

B. Magnetic disturbances in the atmosphere

C. Depletion of ozone layer

D. Polarization of light

31) pLesSinsHlet Hip GHILLG pesT ____.

A. @ flwesflsd Qmbg,) 2 6o gD

B. gerflyerey

C. uluileS\(HbgI 266 LD

D. Geutiublemev
The colour of a star is an indication of its
A. Distance from the sun

B. Luminosity

C. Distance from the earth

D. Temperature

32) SpsevorLeummien sflwnest samenm CsiHCSE.

1) yiullest sields ULeod eumetT  SpGlevedT
@euerfluLsoid LHMILD SMHGLIL6VD 6T65TM)|
SIeP&ESILMHSEIMSI.

2) Blevailev GestevllFengwimest SMbELIGD HlemL WG|
LHMID SHIFWss LLevbd HlenLuwing).

A. 1oL @b B. 2 bl Hd
C. 1&2 D. sigi6yb Qevemev

Choose the correct statement.
1) Earth has aradiation belt known as Van
Allen belt and magnetic field.
2) Moon has no magnetic field of its own and
no radiation belt.
A. lonly B. 2 only
C.1&2 D. Neither

33) seupns QuNBHS) 2 sitenens CHIHOS (0.

Learning Leads To Ruling
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seoflow  Eifs/evg 6o GuWIF
A, @6vL - L6TDLILD
B. LMIGVL6ST - 260D
C. smiuf - eviglflwibd
D. Gzmowid - GmLiflwibd
Choose the incorrect statement.
A. Led - Plumbum
B. Tungstan — Wulfram
C. Copper — Stibium
D. Sodium - Natrium
34) S&seTUILIDMIET 6TeM6U  HLEIT  FHEOTEOID
SLEUUTLEH (Penm Si6v6v?
A. Fhemg CHemeus6TT 6(LOMIEG (LM
B. Geuerfl hens HLOUISHESHSH6IT
C. sLemerT CHem6us G gJhL LIkS([H QFiigen
D. oinfleyeniy samisev
Which of the following is not a qualitative method
of controlling credit?
A. Regulation of market requirements
B. Open market operations
C. Rationing of credits
D. Moral suasion
35) 12 opeugm ghsnewh HLsHer e Hw
&(HSGI(H 6T60T6vT?
L. efleogeunest WHMID NSSW0TeT 2 6iT6ML &SI
eueny&d
2. eps HH WL 6T FalgWl eueTiEd
3. Ganflwellg (wemmullevmest Fepsid
4. eflemyeunest, NSlHwMeeT, 26TeMLSSIW  LHMILD
Ihlemeowinest euejEd
A 1&2
B. 2,3&4
C. 2w (pw
D. 4wl B
What is the theme of 12 five year plan?
1) Faster and more inclusive growth
2) Growth with social justice
3) Socialistic pattern of society
4) Faster, more inclusive and sustainable
growth

A 1&2
B.23&4
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C. 2only
D. 4only

36) @5 w auponest eulfl eI eTetTUZ ____.
1) Grimip 6urf

2) auey&d) euifl

3) wemm(ps euifl

4) eff\gn&emy eurfl

A 1&2 B.2&3
C.3&4 D.1&4

The Indian Income tax is
1) Direct tax
2) Progressive tax
3) Indirect tax
4) Proportional tax
A 1&2 B. 2&3
C. 3&4 D.1&4

37) @bHwneilett HlEH& @ wellett HLemd _____.

1) H1&) IeMDEF(HEE) HBEVTFEHETT GULPMHIGH6UT).

2) wrbevkisEhsE QeoLGw  26mem B
SEBITMIHEN6T SiSHG| emeuliLg|

3)  wuettestL_ (b

Gunmazefles  QewLGHTHITS
@&wevmHmIeug)
4) waHw wmhlev SHTESEHSE PG 2 6i6r Bl
2 mey&enst GSg Lflbgleny G&ileug)
A. 3w @ B. 4 v (h
C. 3&4 D. siemen1sg)d
The duty pf finance commission in India is
1. To advice the Finance Minister
2. To settle the financial disputes among the
states
3. To mediate in international transactions
4. To make recommendation on centre-state
financial relationship

A. 3only B. 4 only

C.3&4 D. All

38) SwsseviLeupmiet  sfluner  Famenm
Cains0-

1) 1988 o0 opevor(h sps Sine HISTGeuM]
unglasmiy elllsener Q&Tessi(h 6ubSF) .

2) 1948 o oetoi(h @hHwnellest (P Hevmeug)
@smglev C&meTens O\&messT(HeuTLILIL L &).

A. 1wl (B B. 2wl (hd

Learning Leads To Ruling
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C.1&2 D. e1g1611D @6v6mI60
Choose the correct statement.

1) In 1988 Tamilnadu government put-forth the
consumer protection rules.

2) In 1948 the first Industrial policy was
announced.

A. lonly B. 2 only
C.1&2 D. Neither
39) sneupTAIGET EMBLIREHT WLHMID LIMEVLITEN6N
a5 Hlemevuflev 2 nligh&Ema?
1) enpL Gl
2) empL G
3) umervGuL
A 1&2 B. 2&3
C.1&3 D. 1,2&3

Plants absorbs Nitrogen and Phosphorus in the

1) Nitrite

2) Nitrate

3) Phosphate

A 1&2 B. 2&3
C.1&3 D.1,2&3

40) Nfligeip o AufletT QMRS MU L Sy Flwiy
useilyLesr BHUSH ugailenw qetinflenssuTs g6l
wny?

A. LevQ@amerd) Ly

B. snesteuneslerv Ly

C. Qeausv@sverval] LilyLy

D. afl6veSlwid QuiessTign Ly

Who among the following merged the office of the
collector with the magistrate?

A. Lord Dalhousie

B. Lord Cornwallis

C. Lord Wellesley

D. Lord William Bentick

41) SpsevoTeummieT Heupns QUNEHHSH 2 6ienens
Coibes5E6-

@B LGSH&6 - WL Sl Geow SermLig)
A.QLsvell -  sgmetT (Hl&&evF60T

B. srestLy - Qamestfl eonyestery

C. 6u5@evtm - &Mellest GabLIEL

D. grestdl - CGams Grmsiv
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Choose incorrectly matched pair.

Indian places Recaptured English commanders
A. Delhi - John Nickelson

B. Kanpur - Henry Lawrance

C. Lucknow - Colin Campbell

D. Jhansi - Hugh Rose

42) QuNp55)5.

a) BevsesoL SLAFT - 1) H(HLoemey BIWSST

b) 2iemfls GLILesTTesTT - 2) Flevegnes]

c) GgmoBaeui - 3) ewestond LflsHailgmey

d) gevr Gzevy - 4) 2GS GuFOBT

1

A. 2 3
B. 1 4
C. 4 1

N W N

2
3
D4 3 21
Match the following.

a) Neelakanda Dikshidar - 1) Tirumalai Nayakar
b) Aluri Kuppanna - 2) Tuljaji

c) Somadeva - 3) Prithviraj III

d) Jina sena - 4) Amogavarsha

A1 2 3 4

Oow
S oW N

1
4
3

N~
- N W

43) spfluiserflest SievIoLietIL
aflensliLuB5s)s.

1) @(wub

2) &lymioid

3) sgewtm

F(PpSHmu

4) spesTUIB I

5) aflefv

A. 1-3-2-4-5

B. 1-2-5-3-4

C. 1-2-3-5-4

D. 1-2-4-5-3

Arrange the social life of Aryans
1) Family

2) Village

3) Jana

4) Janapatha

5) Vis

A. 1-3-2-4-5

B. 1-2-5-3-4

C. 1-2-3-5-4

D. 1-2-4-5-3

Learning Leads To Ruling
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44) @pslw afllGzsemeots CGuUMIMLLSHesT QUNIeZ)

(PSEBT(PSH60NS Hipmog e Smaiglyen
ol LSOSTLI] 61MI(S HLHSHSI?

A. anflygm B. Quevsid

C. emugny,j D. oiw@nné)

During freedom struggle, first rural session of
congresswas heldat ____.
A. Haripura

B. Belgaum
C. Faizpur
D. Amaroti

45) @bHw ellGzemev GumymiLsHletT QUNIEZ)
Sp&6ivL 16, 1946 emw Goilg BLAUIGSE0S [HIT6IT 6T6oT
Sflallss semeveurj wi?

A. sMhHwigseT

B. sgsusijevnsv Grm(m

C. a8 2168 lesteotm

D. & en5Wg| 15108 &6t
Who declared August 16, 1946 as Direct Action Day
during Freedom struggle?

A.  Gandhiji

B. Jawaharlal Nehru

C. Mohammad Ali jinna

D. Sirsyad Ahmad Khan
46) @uevsiLmb aul L Ceng NHN{H BLbHS QTG
@nflevnpdlett lngwonne @ mHSeuT wimj?

A sile

B. aeflettervLetr &i&fl6v

C. mbG& GI&GLmesTmevL

D. @neflest Uy

Who was the Prime Minister of England at the time
of the second round table conference?

A Atlee

B. Winsten Churchill

C. Ramsay Macdonald

D. LordIrwin

47) Jifllgely opLdufld eumily (G &FLLID eTeor
SINPSESHLILILL. FLLID 618]?

A. B Qumgd QawglggneT &L Lb, 1878

B. ussflemss sewvllsens sl Lib, 1799

C. Qermevl_ &L L1b, 1919

Page 8 of 18



http://www.winmeen.com/

Group 4 GS Model Test

D. 2 flow sLBLuM@E S, 1823

Which of the following Act was called as The
Gagging Act during the British rule?

A. Vernacular Press Act, 1878

B. The Censorship of Press Act, 1799

C. Rowlett Act of 1919

D. Licensing regulation Act of 1823

48) @nHwneilev LEsssmisefles o 5Hsas0neg)
(PipeusmLW Snievoronsst 1759- év mLIbs CUMT 618)?
A. omemeustterflil Guimy

B. flestanym Guimy

C. enb@gmb Gumy

D. surpgeund) Gumy

After which of the following war held in 1759, the
Dutch power came to an end in India?

A. Battle of Mallavelly

B. Battle of Santhome

C. Battle of Chinsura

D. Battle of Wandiwash

49) 1764-6v SpEaHCeoW(HSE 6HINS LSHEFM]
Gunmiflév FrHULLeufs6iT wimj?

1) @U6SETLMD OB Sp60LD

2) Aignsg 2.& seyeom

3) Wj @eundbd

4) e$-2 &-s6 6o

A 1,2&3 B. 2,3&4
C. 21&4 D. 1,3&4

Who among the following were involved in the
Battle of Buxar against the English in 1764?

1) Shah Alam II

2) Siraj-ud-Daulah

3) Mir Quasim

4) Shuja-ud-Daulah

A 1,2&3 B. 2,3&4

C. 2,1&4 D. 1,3&4
50) oi60CUNETGEN-lg- SiVUSTEH QBMLFLIMEST
Spanay)|b sammisefley sflwnerg) o5/ eremeu?

1) @euj @pHwnalles CuiFaSEAWL pHEHH08

2 6BOT6BILO LIS Hlem6VBTL pWieur 66T
SIenP&SLILIHEDT.
2) @euy 1516 e6b ey 6TemID  @LSHl6v

HIEOM(PSLD 665T6MM &L _I6BTI].

Learning Leads To Ruling
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A 1w (o B. 2w (hbd

C.1&2 D. e1g1611D @6vemI60
Choose the correct statement regarding Alfonso
de Albugerque.

1. He was considered as the real founder of
portuguese power in India

2. He built the port of Ormuz in 1516

A. lonly B. 2 only

C.1&2 D. Neither
51) Sssesoreupmiet Gameivigriieiv QFmLLIMeT
Seuprest sapenm C5IHCS(6.

1) @eauj smresteumelleiv  FLLG  QFm@Liemu
ETenS S

2) @euj 1902 6v Sypevvtiem LIGTET Hemevemiouilev
HMEULGI6D (S(LLEM6U SHEMLDSHBITI].

A 1wl (o B. 2wl (hd

C.1&2 D. e1g1641b Q6vemIen
Choose the incorrect statement regarding Lord
Hastings.

1) He improved the Cornwallis code

2) He instituted a police commission under
Andrew Frazer in 1902

A. lonly B. 2 only
C.1&2 D. Neither

52) @nHw &858 SrasHemen pEIHGCW oy
uGSuLest Qemevoiss  Levameyd]l  Lilestumniiw
ULl (e &6iT TetI6U?

1) eurifla @oLiL Q&neens

2) 5858 SiN&ES6T 2 Lest Gy

3) 585 SiTf6v meveLML & @etTerID

A 1&2 B. 2&3

C.1&3 D.1,2&3
Which of the following method was followed by
Lord Dalhousie to annex the Princely states with
the British administration in India?

1) Doctrine of Lapse

2) War with the Princely states
3) Misgovernance in the princely states

A 1&2 B.2&3
C.1&3 D.1,2&3
53) Qunmsgis.

a) @anhm Geufssit - 1) eumesorLm
b) wi (@gesvtenstl - 2) wrenfigm
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C) @l (Hevoterstl - 3) Gn@estm Grymuim
d) usd 2 evvTEERID FTeund - 4) aflevabd
A2 1 4 3

B.4 2 1 3

C.1l13 4 2

D.3 4 21

Match the following.

a) Epiphyte -1) Vanda

b) Saprophyte - 2) Drosera

c) Parasite — 3) Monotropa

d) Insectivorous Plant — 4) Viscum
A2 1 4 3

CSow
w =

21
3 4
4 2

—_= N w

54) By seflGunens® eteougl ____.
A. sMyb wHmIb FjS5E0IT
B. &, 686017 OHMID LmsrGLL
C. sy wHmib LmevGUL
D. ergieib @6vemev
A Nucleoside is made up of
A. Base and Sugar
B. Base, sugar and Phosphate
C. Base and Phosphate
D. None
55) amflanny woHmIbd USHET FCHNBHTHET 6NHS
Qammugnen Sinaiflest £1p vessflunboeori?

A. @nevsorLbd BrFlLr

B. ewestmmid ey Lisvevmery

C. opmmid Llevsuibdiom

D. (pg6vmid BrlbLoeujLo6sT

The brothers Harihara and Bukka served under
which Hoysala king?

A. NarasimhaII

B. Vira Ballala III

C. Billiama VI

D. Narasimhal

56) flgni-@-anflbs erettm mireslest SpSAflwiy wimy?
A NG gend

B. uressil

C. (ps1g) sesT

D. o160GILI(peofl
The author of Kitab-i-Hind was
Learning Leads To Ruling
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A. Firdausi

B. Barani

C. Mohmad khan
D. Alberuni

57) Spasemiaupmiet  SiGqillwflesr  Abgy
UenLLUILEE SHSNTIONS eflenmhi@eus) 618)?

A. geumdlujev anflgmus

B. gnggm mmon

C. 5M183-2 60-1083°1)

D. smiflé-@-Qgend)

Which among the following was a source for the
Arab conquest of Sindh?
A.  Jawamiul-Hikayut

B. ChachaNama

C. Taj-ul-Massiri

D. Tarikh-i-Daudi
58)  SsseturLeummieiT
CoBe5 (0.

1) eflgumpsyl Guirfest Shis HESETWID 6UMTEHT

siflwrest

saHenm

6165TM)| SIEMINSHBLILILLG).
2) siflestey Guy  eT6sTD LismesT@UIWIT Q& TessTL6UIT
&H(H6ip6veTCHEUTTIIT S4EUMT.
A. 1C @b
B. 2wl (b
C.1&2
D. e1g1611D Q6vemev
Choose correct statement.

1) The gold coins of Vijayanagara Kingdom was
called as Varaha

2) Krishnadevarayar assumed the title of Abinav
Bhoj
A. lonly
B. 2 only
C.1&2
D. Neither

59) seupne QupHH 2 6enens CHiHOS 0.
A. Gueigeur - LgsLo wHSIF

B. #j-mIUS - Coevmdlug)

C. uetorpl. g6y - FOUWS FIEND HEDDESFI]

D. Blwmu SLgsi - HF Siemée]

Choose the incorrect pair.

A. Peshwa — The Prime Minister
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B. Sar-Nubat — Senapati
C. Pandit Rao — Minister of religious affairs
D. Nayayadikshakar — Finance Minister

60) emhg webteotfletT Syl AeHMVSHL QB
QeuefipMLeufsenmesr  Hl&EGsmeon  SmevoTigu|id
UgT TeEnEEW elgw BEISHSHIHEG UIHES
SbBeuT?

A. @nesorLmd ell(punges

B. (ps6vrmid Li&sI)

C. @nevorLmd Cgeugmuiry

D. @nesorLmib euiflemiy

During whose reign Vijayanagar was visited by
two foreigners, Nicolo conti and Abdur Razzaq?

A. Virupakshall

B. Bukkal

C. Devarayall

D. Hariharall

61.If a car is moving at a speed of 100 km per hour.

How much distance does it cover in one second?
a.252m b.26.6 m c.
27.8m d.28.7m

@ &M wesofle@ 100 H.15 CoussHev Qaev&lng).
@ afleotmguiley 218 HL&EGL GNLD eTedTevr?

a.252m b.26.6 m C.
27.8m d.28.7m

62. What is next?

12 +3, 23*6, 34 +7, 45*20, .....

a. 56* 30 b.56 +11

c. 57*30 d.58 +13
U(H58)| eT6tT6TT HU(THLD?

12 +3,23*6, 34 +7, 45*20, .....

a. 56* 30 b. 56 +11
c. 57*30 d.58 +13

63. In a class of 60 students, the ratio of boys and

girls is 2:1. How many boys and girls in the class?

a. 40, 20 b.30,30

Learning Leads To Ruling
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€. 20,40 d. 25,35

60 Guj GO&nmeviL & eu@LLilev LmevTey,
wnessiail&EnsE QenL Guwne eflfgw 2:1 erevfley,
worrevoTeu, LoMesoTail S 6ifl6oT

Sleuau@LiLilev

eTevvTevDllS6mas Wwing)?

a. 40,20 b. 30,30
c.2040 d. 25,35
64. If x/2y=6/7, the value of (x-y)/(x+y)+14/19 is
a.13/19 b. 15/19
c.1l d.11/19

X/2y=6/7, eweflév  (X-y)/(x+y)+14/19 -ebr wHIY

G601,
a.13/19 b. 15/19
c.1 d.11/19

65. If + means X, - means +, x means - and -
means — then the valueof 6 -9 + 8 x 3 + 201is

a. 10 b.6

c.-2 d.12

+ 6T65TLIG)| X, - 6T6BTLIG +, X 6T60TLIG)| - LOMMILD - 6T6BTLIG]
— etevfléb 6 — 9 + 8 x 3 + 20 edr LS

a.10 b.6

c.-2 d.12

66. A pine apple costs Rs. 7 each. A watermelon
costs Rs. 5 each, X spends Rs. 38 on these fruits.
The numbers of pineapples purchased is

a.2 b.3

c.4 d. Data inadequate
SistTeomALLPD  QeuQeumetimID  emH.7  pSHELD,
SIuy,sewfl @aueunstimib . 5 Spsa b 2 eitemeor. X

eteotueuy @uuipriisefles em. 38 QaevallGEmmy
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eleofley, Seuf eummaIEw  iedTETMELILIPEIS 6T

61686016017
a.2 b.3
c.4 d. eflumb Gungwnestgevev

67. If costs Rs. x each to make the first thousand
copies of a compact disc and Rs. y to make each
subsequent copy. If z is greater than 1000, how
much it will cost to make z copies of the compact
disc
a.zx— zy b. 1000x +yz
c.1000(x-y) + yz d. 1000(z-y)+xz

QU GNIHSSLIgstT (WHev 1000 Linfse, swmflés
@aIQeunsy)| em. X eigwnsa G5 HndHeser
QaIQeunsDd . Y efswnsan QFeveundlng. z
puinsHeEl Qufisnemey z UnfHaenr a(bsHs

eT6U6U6NTEY G\F6V6UM(GLD?

b.1000x +yz
d. 1000(z-y)+xz
68. A fires 5 shots, to B's 3 but A kills only once in

a.zx — zy

c.1000(x-y) + yz

3 shots while B kills once in 2 shots. When B has
missed 27 times, A has killed
a. 30 birds b. 60 birds

c. 72 birds d. 90 birds

B ufleétt peuGeun(p 3 HIIUN&ESHE sHSNSHGSW A, 5
sLemau  &EEDNT. pevmev A @euQeun(p 3
SLOAUGGD QIF FHLeveu WL(HWD LMeneUemWS
QamevdHmmy wHmd B seg QaiQeunyp 2
&EHNNHEGSW @ FLemeu WLLHGW UMeNeUEHWS

Qameodlpmy. B, 27 sLemeu HeaunflullpsGd

Learning Leads To Ruling
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uLg&Hlev, A 85566 LIM60I6US 66T

&L 1g(H&SH .

3. 30 upemEUGEIT 3. 60 LUpeBEUSETT

8. 72 upeneuser . 90 upemeUGET

69. A can do a piece of work in 7 days of 9 hours
each and B can do it in 6 days of 7 hours each. How
long will they take to do it, working together 8§
hours a day?

a. 4 days b. 5 days

c.3days d. 4 %»days

A, @ Geauemevenws 9 wewsfl Guyw GEmessL 7
Geuemev B seifleyid, B , 2185 Gsuemevemuwi 7 wevufl
Good Q&nevo. 6 Geuemev  BHLs6flenId
(P&8555a[HD. JeufseT QU@L GCoNbg @
BTEM6NTE (S 8% wessfll Coyd Geuemev QFWISHM6Y,

316uGeuemevem W58  eTeuaueNeY SM6VLD

eT(QLILIMj&6i?
a. 4 pILser b. 5 mrlseir
C. 3 BIL&6M d. 4 V2 bl sei

70. The inner circumference of a circular race
track, 14m wide, is 440 m. Find the radius of the

outer circle

a.85m b.84m
c.70m d.80m
14 15LLf Siseu@peniLl @@  6ulLlomest

@hunenguilest 26 &bmermey 440 WLLG pGLb.
Qeuefl aulLSH6oT Dy THEMBHE SIT6THIS.

a.85m b.84m
c.70m d.80m
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71.If P% of P is 36. Then find P.

a. 15 b. 60

c. 600 d. 3600

P-6t1 P% 236015 36 etevflev P &3 smevor.

a. 15 b. 60

c. 600 d. 3600

72. The least whole number which when
subtracted from both the terms of the ratio 6 : 7
gives aratio less than 16: 21 is

a.2 b.3

c.4 d.6

6 : 7 ealflzsHer Qu 2miysefledipibgib
sflssuubn  Qumues 160 21 ellHss5hG
Geomaune @G lHssmss SO0 &AM WL
6T6uDT

a2 b3 c4 db6

73. The HCF of 924, 105 and 525 is

a.2l b.84 <c¢.105 d.25

924, 105, 525-@etr 15.GlLm.6u

a.2l b. 84

c. 105 d. 25

74. Find the least number which when divided by
5, 6, 7 and 8 leaves a remainder 3 but when divided
by 9 leaves no remainder

a.848 b. 843

c. 1683 d. 1688

5, 6, 7 I 8 eT6vuTSH 6TV 6u(G&&LIL(HLD QuT(es 3
& BHWNsab, 9 v aIEGSSUILGD QuUTIeg) WH
@ 6v6uMDYILD 2 6iTeN LEFINFIL ETEUTTENETTIS: SITETIIS:.

a. 848 b. 843

c. 1683 d. 1688

Learning Leads To Ruling
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75. Least common multiple of a* a**?, a**5, where ke
Nis

a.a" b. ak*1s

C. a3k+8 d ak+5

a® a¥s, a"%, ke N opflweupilesr 85Am Quns)

LOLIEI(S, 61517

a.ak b. ak*1s

C. a3k+8 d ak+5

76. Fill in the blanks: 1, 4,13, 40,121, ____
a. 364 b. 382

c. 256 d. 312

GCamyl L QL 608 Hlyius: 1, 1, 4,13, 40,121, ____

a. 364 b. 382
c. 256 d. 312

g . - 15 15 15 15 15
77. Which is the largest number in —,—,—,=,—,?
17°18°19° 21" 23

15 15
a.— b.—
21 19
15 15
c.— d—
23 17

. 15 15 15 15 15

la Quiflw etesor wing? —,—, —,—,—,?

17°18° 19 "21°23
15 15
a.— b. =
21 19
15 15
c.— d—
23 17

78.Find If £ = % and 8a + 5b = 22, then the value of

ais
a.l b.2

4 2
c.2 A

7 9
a . . _ . o .
> =, wbomb 8a + 5b = 22, eterflev a-ebr wHIY
SHIT65015.
a.l b.2

4 2
c.2 A

7 9

. 3729-327

79. Find the value of e e
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5 3
a.- b.=
3 5
5 2
c.- d.=
2 5
iz i 601 LDS\LIL| STevoT
3512+3/343 H
5 3
a.- b.=
3 5
5 2
c.- d.=
2 5

80. A wheel makes 1000 revolutions in covering a
distance of 88 km. Find the radius of the wheel
a.13m b.12m

c.llm d.14m

88&).15. Qsmemeve GFeLVUBM(E @(H F&H&ND 1000
&OMISSHET  TB5HHHCEHMNEINGI, HEFHHNSHSE60T
ST SM6ToTS.

a.13m b.12m
c.llm d.14m

8l. eTh® MMIMICUETHSBTEY, @)\HS) W mellesr
wWseumaug eSS WD - wer H&T
QTN MHFTeM6V SHL L LILIL 6 6ITeTSI?

[A] @pevoTL_fl& 6N &MTLILIGT6S 60T

[B] GAIL

[CIHAL

[D] BHEL

India’s First Lithium Ion Giga Factory will be build
by which of the following companies?

[A] Antrix Corporation

[B] GAIL

[C]HAL

[D] BHEL

82. hssH CHHUN, =2.6us eruiilev
S5OHLULE Seord HenL 91955 LLO S M SI1?
[A] G0 18 [B] G 19

[C] G 20 [D] G 21

On which date, the 2019 edition of World AIDS
Vaccine Day is observed?

[A] May 18 [B] May 20

[C]May 19 [D] May 21

Learning Leads To Ruling
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83. LYletTeu(H LD 6TIHS H& TS S 6L, UNCCD COP 14

8B QBB WIT BL S5 6 6Teng?
[A] Usl Blevedl [B] F\heurr
[C] &evor19 &I} [D] emamsmuTs

The World Food India event will be held in which
of the following cities?

[A] Indore [B] Jaipur

[C] New Delhi [D] Lucknow

84. @KHBHW flejeu BT LS W
QFELHEGW QWEBGDHITE
Blwd & & Lu L GeTemeury WITF?

[A] el WWlervm [BIN S eflerveursmgseor

[Cl N F58 Retamm [D] 2_aqm Smev

Who has been appointed as the new Executive
Director of Reserve Bank of India?

[A] Rabi Mishra [B] N S Vishwanathan

[C] Preet Sinha [D] Usha Das
85. SL6ugl L0 & &5 6160 61 Ul 60T
3| 6M6US S EMEVEIT TS

CHTHASH&HSHLILILL6UT WITF?

[Al pmib&geoT GUITQMITTT

[B] & 6L senveumedt

[C] e21d LFeuIT

[D] nGeormel pr@eamiflwim

Who has been elected as Speaker of 17 th Lok
Sabha?

[A] Ramcharan Bohara

[B] Rahul Kaswan

[C] Om Birla

[D] Manoj Rajoria

86. 2019@) 60T FJ6UCHTF &HVMTEF&F T HTeiT World
Heritage Day (WHD) &5 LI G LI IT([H 61T 6T60T60T?

[A] Rural Landscapes

[B] The Heritage of Sport

[C] Heritage for Generations

[D] Protect our Green Heritage

What is the theme of the 2019 World Heritage Day
(WHD)?

[A] Rural Landscapes

[B] The Heritage of Sport

[C] Heritage for Generations

[D] Protect our Green Heritage
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87. FMuTsHEp&ESETOT Q5 SFl&asL
2 VBECHTLIGOL GUITL.19. & &IT60T
IH6L G 6VETOTEOOT FHNGIUT TS HIWLASHESLILIL L
ApHW Ffl&asL ey wmi?

[A]l s Gamamed

[B] eT1D.6T610.G S5 T60f

[Cl awFLo6TLfS Sy

[D] W& &med g

Who has been named as the goodwill ambassador
of the Indian team for the Street Child Cricket
World Cup?

[A] Virat Kohli

[B] M S Dhoni

[C] Harmanpreet Kaur

[D] Mithali Raj

88. G mwimerfludl eor 2 ulflwev
QUMUBLHem6ETS  Q&meooT(  THBHTL®
QLTMWUFRWMeNTSH6T (PSH6L 3D B\FWS s
|F & Q&I GI6TETeurIy?

[A] Eeorim [B] @6vCyev

[C] s mesTeny [D] ©1QWw&a&T

The researchers of which country have
successfully printed the world’s first 3D heart by
using a patient’s biological material?

[A] China [B] Israel

[C] France [D] United States

89. s @QHHW AflsGs. LNyueul,
CUBHE UWeoT&FFLH LB 6y &ens S eor
Nl e LIS SNSI 6T TS
Blwt&&LIUL B e6Termy?

[AlGom&g FFwm  [Bl gL Gssmed

[CIM S Gsmevur] [DIK L pm&e6v

Which Indian cricketer has been appointed brand
ambassador of bus ticketing platform ‘redBus'?

[A] Rohit Sharma [B] Virat Kohli

[C] M S Dhoni [D] K L Rahul

90. FIOUSH6L &mevlnmerr QTN G&TLI
'hs elleiorQeuer MlMicueTHMGHEF CEFTHS
W6V QLevor eflevorQ euerfl ST Imeury?

[A] RosCosmos

[B] NASA

[C] JAXA

[D] Canadian Space Agency

Learning Leads To Ruling
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Jerrie Cobb, who passed away recently, was the
first female astronaut candidate of which space

agency?

[A] Roscosmos

[B] NASA

[C] JAXA

[D] Canadian Space Agency

91.  2019@)\ev BB W Guwiflemwold
LI 60011 &5 (€15 & &5 IT60T HITET eTeoTM)
Q& MeUoTL ML LILILLg1?

[Al glagev 21 [B] grLigev 20

[Clgligev 22 [D] grLiyev 23

On which date, the 2019 National Civil Services
Day is celebrated in India recently?

[A] April 21 [B] April 20

[C] April 22 [D] April 23

92. SMmGs sumlev HAHa  edlpm
HEOLQLIMHM LOMBleVLD 6TZ1?

[A] F1&SH D

[B] amflinmgsev NpGsH&LD

[Cl 2 5508 mevorL_

[D] 2Lbp & &meqsy

The 2019 Singhey Khababs Sindhu Festival was
held in which of the following states?

[A] Sikkim

[B] Himachal Pradesh

[C] Uttarakhand

[D] J&K

93. SWIMWEFTR wLOHMIL UGLUUTWLe
(Research & Analysis) L9 flefletr HHCLITeME W
SemeveUT Wmy?

[A] 56 F6eu H LTS

[B] #l0& @GLOMT G&ITUI6L

[CIA S s160TS

[D] fl&p1D &5

Who is the current chief of the Research &
Analysis Wing?

[A] Sanjeev Tripathi

[B] Samant Kumar Goel

[C] AS Dulat

[D] Vikram Sood

94. @QBBHW gHMWLS jemloLiLserflesr
FaL_Lenln 19 6T (FIEO) 4B W SHemeveury Wimy?
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[Al WS BT DTTELEST

[Bl &mpsm &rom

[Cl#0& @y &ru

[D] &G6m0T6)q GLOMT GLIST

Who is the new President of the Federation of
Indian Export Organisations (FIEO)?

[A] Yatindra Maralkar

[B] Sharda Sharma

[C] Sharad Kumar Saraf

[D] Ganesh Kumar

95./Go Tribal UFULemgwmeorgl LSledTeu(pLd
THSVIL 6T QSMLITL|6DL W SI?

[A] QUIeTOTS 6T 2 H ST 06T & 56060

oo & &8

[B] LiLpaI@ 19 ufeor iy

6 856160 60T LG LIM(HL_ 8 6rfl 60T LIUI6dT LML 60
o5 & &5

[Cla T sevallemw GLDLIG SIS TS
[D] GLOM &H600TL. 2|6m60TS SILD

Go Tribal Campaign is associated to which of the
following issues?

[A] To promote women empowerment

[B] To promote use of tribal handicrafts

[C] To promote child education

[D] All of the above

96. 1B L LI LI [T 600T LY. 65T 5 6UMITeoT
LO(HH S LI W edTLI () & FLLACHTS
SLE5S5NEG TSIy meor FTUCHEF

BTEh&&meor (International Day against Drug
Abuse & Illicit Trafficking) &(BLIGLIT(H 6T
6T60T6OT?

[A] Value yourself

[B] Lets Develop

[C] Health for Justice, Justice for Health

[D] Listen First

What is the theme of the 2019 edition of
International Day against Drug Abuse and Ilicit
Trafficking?

[A] Value yourself

[B] Lets Develop

[C] Health for Justice, Justice for Health

[D] Listen First
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97. GmmeumelledT 6THs MHMleTr GSMECS
3IL6L GF gl SLLLILIL(h6TengI?

[Al e L06v 240

[B] Lomevor el @, mi

[C] GxCrGs&ImeL &L,mI

[D] &mevgdlLImG <o

Atal Setu, which is in news recently, is built across
which river in Goa?

[A] Harmal

[B] Mandovi

[C] Terekhol

[D] Galjibag

98. WM@HSHE HLLULIMEUTY T SFTLD
eywrs Hear usHflems o
GULPMISLILIL (D 6Tems?

[Al HCIHS T BTS F&HIMTSS

[B] ®eqmGev LILLTEFFMTF

[C] GammineoT GLIMTTG&H TR QM U160

[Dl ®\&&TISST &Fwom

Who has been conferred the Assam Republic Day
Journalism Award 2019?

[A] Dhirendra Nath Chakraborty

[B] Kishalay Bhattacharjee

[C] Homen Borgohain

[D] Siddhartha Sarma

99. ‘WL NGBS AUDHD WS QBB W
S\ (HHHEIENS WITH?

[A] & wWuef FFdlerm

Bl Nifs& sm wmadleof]

[CIBI&&S BLITS

[D] LMBISTIH 219 &HETITT

Who has become the first Indian transgender to be
honoured with Padma Shri?

[A] Madurai Chinna Pillai

[B] Narthaki Nataraj

[C] Bangaru Adigalar

[D]R V Ramani

100. eTH55CHH U6V, FFUCHF QLIIHLD @) 60T

P8y mmeir  (International — Holocaust
Remembrance Day)
saoLUNYssLILGSRMSI?

[A] 826016111 30 [B] 260T611f] 29

[C] 22606111 28 [D] g6vt6UIS] 27
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The 2019 International Holocaust Remembrance [A] January 30 [B] January 27
Day is observed on which of the following dates? [C] January 31 [D] January 29
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Group 4 VAO General Studies Model Test 20 — Answer Key

1) c |20 | ¢c |4) | B |[6) | c | 8) | D
2) B | 22| A |42 | A |62 | B |8 | A
3) | D |23 | D |43 | B [63) | A | 8) | A
4) | D | 29| ¢ |49 | c |64 | Cc |80 | A
5 | A [ 25| B | 45| c |65 | A | 8) | C
6) B | 26| c |4) | c [ 66)| Cc | 8) | A
7) B |27 | B |4n | A |[6n | c | 87 | D
8) cC | 28)| A |48 | B [68) | A | 88 | B
99 | D |299| ¢ |49 | D |69 | Cc | 8) | C
100 | A [30)| A |5) | A |70| B [9) | B
1) | ¢ | 3) | D |5) | B |7 | B |9) | A
12) | B [32) | A [5)| D |72 B |92 | D
13) | D [33) | c [53)| c | 73| A |93 | B
14 | B [ 34| B |59 | A | 79| c |94 | C
155 | ¢ [3) | D [5) | B |7) | D | 9) | B
16) | B [3)| A |5) | D |7 | A |9) | C
1) | A |3 | B |50 | B || D |97 | B
18 | ¢ |38 | c [58 | c |78 | B |98 | A
199 | B [3) | D |5)| D |79 | D |99 | C
20) | B |40 | D | 60) | ¢ [80) | D |100)| D

Learning Leads To Ruling Page 18 of 18



http://www.winmeen.com/

